oA K 04 SN AT M 43T R A AR LB A R

¥ — 8 (%] A#£28)

HAERH AR (MR EEREE)

%ﬂﬁiﬁﬁnféﬁﬁﬁifﬁﬁ&{ﬁ&@%%
XKie T SFES  EAENES T UENRE  BTRITRSY - FERELIRTFTF
. 27 107 #£5110047 '

==t

. BHAS—EL FAER A AR L~ 2+ 2~ 20 (HRTERE © Swmsenhnut
A) -
(a) det(A) =_2 8% (HAR—BH  IERED)
(b) A_ 2 TINHER - 8% (VB TH - MEHEERER)
(c) BMEMRYGEDHRM Ax=b_2 - 8% (EHE - 8 THRAHER
(d) A_2? HEk- B (H[IEZ ~ H] - WL
(e) AMENFLEE 7 L 2%, (HETTE - IS - LTI
(f) AmgmEsTR_2 R 8% (o &R D - BIRIRERER)
(g) Aﬂdmfﬁ’iﬂmiﬁﬁ'&V . B (k- BT BURIEMRER)
(h) rank(A)|=_7 g% (0-1-223-4)
(i) %J}?ﬁﬁﬂﬁﬁzﬁﬁf%mq%&’%ﬁﬁﬁfﬁ% 7. BE: (0-1-2-3-4)
(_]) Nullity of A= _7 - 2 (0*1‘2‘3‘4)

1 2 3 '
E&‘ Let A=&3 ) ]]. Find the trace of (AT *A)=__2

%} > Let B be a 3x3 square matrix and det(B) =| B | = 2. Find the following:
(a) 14 (BY'|=/_2_ (o) |B(adj B)l=

% N Find the steady-state vector of the following regular ;ransition matrix M =

02 04) o 4
08 06 (o] arkov process.

>~ SREETIISEBERSIESRM -
Ix+2y+3zt=0
lx+1ly+2z+t=1,

Ox+1ly+2z+t=1

BE s 4 s=((1, 0),(2, D}; T=((0, 1), (1, 0)ABIRV= R 2 HE u=(8, 6),50:
(a) 3k [u]sz?

(b) SREBEUERE P 1< STt S EEEINAZE THIE ?
(¢) K (uly 1 AHEABEA@)E(D) HRITRES?

W, EAEEWER:(-1, 0), (0, 2), (1, 5), &X:

(A) EEKCEE —RAGEN: v = + X + x!

(B) =BT ERIS/NEHRERGER: v = + X
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fﬁﬂ > Let W={ The set of all vectors of the form (a, b, ¢, d), where a-b-2c-6d = 0)
be a subsets of R'.

(a) Verify W is a subspace of R’
(b) Find an orthogonal basis of W.

1
(c) Find a basis for w .
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1 1 4 1 2 10 2 0 1
o 1 2 1 1 01 2 0 -1

B~ 44500 0 1 2lgmppuues 0 0 0 1 2| opy:
1 -1 0 0 2 00 0 0 0
2 1 6 0 1 0 0 0 0 O]

(a) |rank(A).

(b) AT S ATRERAIUTHRMES.

(¢) |null space of A(EF/finull spaceFZE/IE —HEE).
(d) | BAMBIFER AR T BB nu 11 ty B rankFRIRBRARA..

' 1 -1
Let A= .
[_1 1 ] .
(a) |Find the eigenvalues and associated eigenvectors of A.
(b) |Find an orthogonal matrix P such that P'AP = D, a diagonal matrix.

(c) |Find the eigenvalues of A,
(d) Find A'-A’-2A%+A
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